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“2 out of 3 approach”
The measurements result values generated by a  NE are often redundant, or the info contained in the measurement results can be obtained in a number of different ways.

Let’s consider the number of attempts to start a specific procedure (e. g. attach). Some of these attempts will fail, some will be successful. 3 different counters can be defined to measure these procedures : an attempt counter, a success counter, and a failure counter, but in fact only 2 are needed to get all info, since we have the fixed relation (#success + #failure) := #attempt.

The “2 out of 3 approach” allows a vendor to choose any 2 out of the 3 defined counters for implementation.

Of course, if there would exist a relation (A+B+C=D), then any 3 out of the 4 would suffice, and the same kind of approach would be applicable.

With relation to the field H of the measurement template, a measurement indicated with 2G/3G is an example ot the “2 out of 3 approach” since (2G + 3G) = COMB
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